#1780 ALRSFERAXDBREFEAS
£ LRI AR

MR . SM4E5RA78
PN EILRERE RS

(8 F) X(op)=A—>&0

AR $REE 3 11#07| -2.4 pXivi
100m I—r—o 3 1187 2| -1.4
BI® W | 2 11%90] -1.4
BE B 1 127%02] 0.2
BN 1 T2%31 1.5
100m (0p)—r— 1 12%51] 0.1
Ea &% 1 3
N I 1 ESi3
400m AR &R 2 48#80 317 BCHiR
EL B5 1 50209 XV BCHiR
$THEAE—EA 3 52#07
400mOP) —=mm T 2 53522 BoFas
He EH 2 19359#30 541
8O0M —=—mm 3 25058509
WH 1&E 1 1935956
8 00m(op)| AMELTES 3 25300762 BC#Hhi
" @m 2 3504044
7 T 3
AR e 3 " o
4x100mR T B2 2 42147 241
A S 2
il B8 2
4x100mR[  FHHEIE—ER 3 N
o ’ 44146
B &It 2
A &S 2
4x400mR [2A& B2 | 3 39917887 141 AARR
EL 5 1
$rEAS—EA 3
B &It 2
4%x400mR Ll B 2 "
o EE : 3434 078 0
= = 1
ok BAttREEIR 2 1m91 147
=28 E5 3 1m85 2
B £&A 1 1m80
E=Hk(op) fall B8 2 1m80
=% B 1 SEETD
MR BA 3 6m21| +1.1 6 fiz
T E = 1 Sm8 4| +0.4
R e 1 5m50| -0.4
A i 1 SCERI L
= Eapk i IT =T 2 13m10| +1.1 2 EE ]
= CEE 1 11B80] +0.3
_ cnm Tl B 1 11m87| +0.6 EE ]
=RIKOP) —ermr T2 =G
n B[R % 2 13m28 541
W e 3 12m52 61
Fa*Li% (op) HE B 1 11m36 BCHiR
oAy B[R % 2 35m93 4 fif BC#tiR
T BE | 3 34mo 3 i
M#21%(op) 8l KIE 2 30m13 BCHiR
on | B 1 Z3m00 5T EREE]
Ak R 3 36m65 741




(27

e B K = FE | AL REE | ®m | B " =
100m | BE =R 1 1274 3| +0.8 | 54
ZH 3 12@87| +0.5 EEEEE
B Bx 1 141398 +2.2 EBREZEin
100m (o) —ermmn T 1 =
100m|_BL BZ 1 150210 1 541 EEEEE
tx BE 1 12306#05
1500m INE BE 3 59315#32 BCHiiR
e 1
B =R 1 " "
4x100mR = = I 5014 541
ZH 3
e 1
=H 3 ) " "
4%x400mR TR = I 4451538 541
EEESS 1
B | ®mL = 3 14m238 i
™R | BEL =% 3 21m6 0 i




